HEEDARESKINEIABEES (NN FRIEHRATE) SMM4£E9HA3H
I BF DL
A —5 BY—=0
1 2 3 4 |ow N 1 2 3 ' N
N EE AT B il R bl FETAAHE| BE o] =B
1| XHA 1 -3[®@- 11 -3 4] 3 1[EEFR ®-0]l®-1]2 -3 5] 2
2|2 %[ - 1 ®-0]®- 1] 6 | 1 2ZH®E|0 - 3 1 -3l0-3[ 3] 4
3|FEfE|1 - 3]0 - 3 1 - 3] 3| 4 3 HE 1 - 3]l®@ - 1 2 — 3| 4 | 3
4 7% 1@ - 111 - 3]® - 1 5 [ 21 [4pze=lec - 2|0 - 0]® - 2 6 [ 1
c—7o D=7
1 2 3 4 n 1 2 3 4 n
i Mk i Rl M e R el e L
EEEES 1 - 3[@ - 11 -3 413 1] T ] 2 - 3lo-3]1 -3] 3] 4
2| BEF0 [® - 1 ®-1l@-2][ 6] 1 20fEM—[® - 2 1 -3/2-3] 4] 3
3|#manr[1 - 3|1 - 3 2 -3 3| 4 3|xmcx|e - 0[® - 1 @-2[6]1
4| EME[e - 1]2 - 3]@ - 2 51 2 4] it |® - 1]|® - 2|2 - 3 5| 2
E—4
1 3 4 P - NEZET-6. KEIFTTRTOETIHERS
TR | “wﬁ TR Z[ELR|TT (BEVLVOEBEMT AT OBHEHT) 1&E45D
HIETE @-2[1-3l@a-2] 5[ 2 T9IH,.3~58 ruﬁ‘éf—&ﬁlﬁl(i)\;ﬁm\ﬂb
2[Ess—[2 - 3 1 -3@-1] 4] 3 BWMEEEHYET . BELVDERTHIHRLE
3/Zh=[® - 1|3 - 1 @-1] 6 | 1 Gt AN
4lgt+R[2 - 3|1 - 3|1 - 3 3| 4

SEQY—SBIET EMS3EAEITHE,

A~BFEFTIHBARESELTH, 1 ~3BF ORGSR OLLGITNITHEREAHEELLL,

k= A0k

1| KE&<E
12
2| hzg
11—
3| & 14 —
4| HBRF0
13
5|RBUE=
BHLb—F AR
A GES
32
2| HITEN
31—
3|RB I — 34
4| KHPE
33
5 SEM—

KETOVIDRIERLDFARHVHHE
F—FAURRIFSRER(ELOMHEICIHLI=L

2 b—F Ak

—_

EFE
B

22

N
=3

k3

IS

BEHR

23

5| FRiE

AR —F AR

1| ;BEHE

42
2| A=

41—

3| BRiR AHT 44

4| FHHEA

43

5| xR

(KCBIE) TAS, EARHDEREILLAELY,

AERTIAN,



